### Construction division. Advice for giving credit to contractors/suppliers.

Sl. N regi	No. – site bills		819		Date Regi	- site	bills	10/00	8/2021	
	apany Name:	+	MPL	Site:				MFP		
Nan	ne of Contractor		lohd Aza	2/				.,	,	
Nati	ire of work	-	ailling Ho							
Wor	k done		om Date		107/2	1021	To Date	08/0	18/2021	
Sl. No.	Villa/Flat/block no	0.	Qty.	Rate		Units	Amo	unt	Contractors bill no	
1)	18" Elevations	lab	832.00	12.	.00	Nos	9,98	4.00		
2.	Brujection								,	
Ð	Duct Openning	0	320.00	12.0	D	NUS		0.00		
<b>(5</b> ) ( <b>5</b> )	RIN For VDG		1,320.00	10.	DU	NUS	13,2	00.00 00.00		
(5)	Calemns for V	DF-	1,080.00	10.	00	NOB	10,8	00.00		
6.	<i>v</i>									
7.										
8.								ļ		
9. 10.										
10.	т	otal:					21	824.09		
	required		ES √ZNO.		GST	bill req		U YES		
Measurement & Requi			Measurement &							
			ot required	estimate sheet		and a capture of				
PO/V	VO no.			PO/WO date:						
Rema	Remarks :									
					1.54				-	
Appr	oved by Project Ma	nage	r Appro	ved b	y Desi	gn Tear	m App	Approved by M.D.		
Date:	10/8/2021		Date:				Dat	e:		
Sign:	- M	_	Sign:				Sig	1:		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

## **Bill for Labour charges**

# Mohd Azar H,No 11-1-624/7/A, Mylargadds, Chilkalguda, Secunderabad

Date : 10-08-2021

In favor of: Project / Site: Location: Type of Work: Towards:	In farme of
MPL MFP 82/1. Mallapur Drilling Holes for RCC Beams. Labour Charges	

			<u>,</u>	S NO.	
Work done from date 15-07-2021 to 08-08-2021	Total amount = Rs. 37.824.00/-	for VDF @ Cellar, Duct Openings and 18" Projection Slab.	Brief description of work done: Towards Drilling Holes	Description	
		Rs. 15,129.00/-		Amount	

Amount in Words: Fifteen Thousand One Hundred and Twenty Nine Rupees Only.

Sign:

## **Bill for Equipment Allowance**

Mohd Azar H,No 11-1-624/7/A, Mylargadds, Chilkalguda, Secunderabad

Date :10-08-2021

2

In favor of:	MPL
Project / Site:	MFP
Location:	82/1. Mallapur
Type of Work:	Drilling Holes for RCC Beams.
Towards:	Equipment Allowance

S No.	Description	Amount
1.	Brief description of work done: Towards Drilling Holes for VDF @ Cellar, Duct Openings and 18" Projection Slab.	Rs. 15,129.00/-
	Total amount = Rs. 37,824.00/- Work done from date 20-07-2021 to 08-08-2021	

Amount in Words: Fifteen Thousand One Hundred and Twenty Nine Rupees Only.

Sign: \_\_\_\_\_

## **Bill for Consumables**

## Mohd Azar H,No 11-1-624/7/A,Mylargadds, Chilkalguda, Secunderabad

Date :10-08-2021

In favor of:	MPL
Project / Site:	MFP
Location:	82/1. Mallapur
Type of Work:	Drilling Holes for RCC Beams.
Towards:	Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Towards Drilling Holes for VDF @ Cellar, Duct Openings and 18" Projection	Rs. 7,564.00/-
	Slab. Total amount = Rs. $37,824.00/-$	
	Work done from date 15-07-2021 to 08-08-2021	

Amount in Words: Seven Thousand Five Hundred and Sixty Four Rupees Only.

Sign:

ESTIN	ESTIMATE SHEET						
Compa	ompany Name	MPL	Prenared by:		R. Ashok		
Project		May Flower Platinum					
Work D	Work Description:	Drilling Holes For RCC Beams					
Contrac	Contractor Name:	Mohd Azar					
Date		10.08.2021					
S.No.	Item Head	Item Description	Quantity	Units	Rate	Amount	<b>Grand Total</b>
	<b>Drilling Holes For RCC Beams</b>						
_		18" Elevation Projectin Slab for B&C Blocks	832.00	No.s	12.00	9,984.00	
2		RCC @ Lower Cellar Duct Opennings	320.00	No.s	12.00	3,840.00	
w		R/W for VDF @ B&C	1,320.00	No.s	10.00	13,200.00	
4		Columns for VDF @ B&C	1,080.00	No.s	10.00	10,800.00	
				<b>Total Amount</b>	ount		37,824.00
	Amount in words :- Thity Seven TI	Amount in words :- Thity Seven Thousand Eight Hundred and Twenty Four Rupees Only	es Only				

MEAS	UREMENT SHEET	1					
Compa	ny Name:	MPL	Prepared by:				
Projecti		May Flower Platinum		,			
Work D	Description:	Drilling Holes For RCC Beams					
Contrac	ctor Name:	Mohd Azar					
Date:		10.08.2021					-
			A				
S.No	Item Head	Item Description	Dia Of Hole	Depth Of Hole	Quantity	Units	Total Head
	Drilling Holes For RCC Beams						
1		18" Elevation Projectin Slab for B&C Blocks	16mm	4"	832.00	No.s	
2		RCC @ Lower Cellar Duct Opennings	16mm	4"	320.00	No.s	
3		R/W for VDF @ B&C	12mm	4"	1,320.00	No.s	
4		Columns for VDF @ B&C	12mm	4"	1,080.00	No.s	